A DEFINITIONS

A.1 CALCULATING MULTIPLICATIONS USING CUBES

Ex 1:

Ex 2:

Ex 3:

Ex 4:

3x2=[6]
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3X2=24+2+2
=6
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3X5=5+4+5+5
=15

MULTIPLICATION
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4x3=3+3+3+3
=12

Ex 5:
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9x3=3+3+3+3+3
=15

Ex 7:

3x7=21]



Answer:

IXT=T+7+7
=14+4+7
=21

A.2 FINDING THE REPEATED ADDITIONS
Ex 8:
5+45+5=[3]x5
Answer:

e Count the number of 5s:

24242+ 2=[4[x2

Answer:

e Count the number of 2s:
2424242
¢ 2424+2+2=4x2
Ex 10:

3+3+3=3]x3

Answer:

e Count the number of 3s:
3+3+3
e 3+3+3=3x3
Ex 11:
9+ 9+9+9+9=[5]x9

Answer:

e Count the number of 9s:
9494+94+9+4+9
¢ 9+94+9+94+9=5x9
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B IN NUMBER LINE

B.1 CALCULATING MULTIPLICATIONS USING
NUMBER LINE

Ex 12:

3x2:@

0123456 78 91011121314151617 181920

Answer:
e Start from 0 and jump 2 steps to the right, 3 times.
+2 42 42

N TN T N
01 2 345 6 78 91011121314151617 18 19 20

e 3Xx2=06

Ex 13:

2><5:

4 4
t t

0123456 78 91011121314151617 181920

Answer:

e Start from 0 and jump 5 steps to the right, 2 times.

+5 +5

N TN

0123456 78 910111213141516 171819 20

e 2x5=10

Ex 14:

3% 6= 18]

012345678 910111213141516 171819 20

Answer:

e Start from 0 and jump 6 steps to the right, 3 times.

+6 +6 +6

S N T N TN

0123456 7 8 910111213141516 171819 20

e 3x6=18

Ex 15:

2 x 7 =|14]

t

012 3456 78 91011121314151617 1819 20

Answer:

e Start from 0 and jump 7 steps to the right, 2 times.
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1 2
+7 +7

N N

0123456 7 8 910111213141516 171819 20

e 2xT7=14

Ex 16:

4x5=20]

012 3456 78 91011121314151617 181920

Answer:
e Start from 0 and jump 5 steps to the right, 4 times.

+5 15 +5 5
N N T N T TN

0123456 7 8 910111213141516 171819 20

e 4 x5=20

C REPRESENTATION OF MULTIPLICATION
IN WORD PROBLEMS

C.1 SOLVING REAL-WORLD PROBLEMS WITH
DRAWING

Ex 17: Hugo has three boxes of pencils. Each box has 5 pencils.

Hugo has pencils in total.

Answer:
e Hugo has 3 groups of 5 pencils.
e Adding groups: 5+ 5+ 5 = 15 pencils.

e Hugo has 15 pencils in total.

Ex 18: Su has four boxes of marbles. Each box has 3 marbles.

Su has marbles in total.

Answer:

e Su has 4 groups of 3 marbles.
e Adding groups: 3+ 3+ 3+ 3 = 12 marbles.

e Su has 12 marbles in total.

Ex 19: Louis has four containers of Lego bricks. Each container
has 5 Lego bricks.
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Louis has Lego bricks in total.

Answer:

e Louis has 4 groups of 5 Lego bricks.
e Adding groups: 5+ 5+ 545 = 20 Lego bricks.

e Louis has 20 Lego bricks in total.

Ex 20: Alice has three jars of cookies. Each jar has 4 cookies.

Alice has cookies in total.

Answer:
e Alice has 3 groups of 4 cookies.
e Adding groups: 4 + 4 + 4 = 12 cookies.

e Alice has 12 cookies in total.

C.2 SOLVING REAL-WORLD PROBLEMS

Ex 21: Larbi is building toy cars for a school project. He can
build 5 toy cars each day. If he works for 3 days, how many toy
cars will he have in total?

Larbi will have toy cars.

Answer:

e Visualize the groups:

5 5 5

3 equal groups
e Larbi has 3 groups of 5 toy cars.
e Calculation: 3 x 5 =15
e Total: Larbi has 15 toy cars.
Ex 22: A school is buying notebooks for its students. Each
student needs 2 notebooks. If there are 6 students, how many

notebooks does the school need to buy?
The school needs to buy notebooks.

Answer:

e Visualize the groups:
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e There are 6 groups of 2 notebooks.

e Calculation: 6 x 2 =12

e Total: The school needs to buy 12 notebooks.

Ex 23: Emma has 3 boxes of eggs. Each box contains 6 eggs.

How many eggs does Emma have in total?
Emma has eges.

Answer:

e Visualize the groups:

e Emma has 3 groups of 6 eggs.

e Calculation: 3 x 6 = 18

e Total: Emma has 18 eggs.

Ex 24: There are 5 people. Each person has 2 eyes.
How many eyes are there in total?
There are eyes.

Answer:

e Visualize the groups:

e Calculate the multiplication: 5 x 2 = 10
e There are 10 eyes in total.
D COMMUTATIVE
D.1 PLAYING WITH THE ORDER
MULTIPLICATION
Ex 25:
10x 2=
Answer:
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OF

e We can think of 10 x 2 as adding 10 two times:

e 10x2=2x10
=10410
=20

e So,10x2=20

Ex 26:

10 x 3 = [30]

Answer:
e We can think of 10 x 3 as adding 10 three times:

e 10x3=3x10
=10+10+10
=30

e So, 10 x3 =30

Ex 27:

15 x 2 =[30]

Answer:
e We can think of 15 x 2 as adding 15 two times:

e 15 x2=2x15
=15+15
=30

e So, 15 x 2 = 30

Ex 28:

100 x 2 = [200]

Answer:

e We can think of 100 x 2 as adding 100 two times:

e 100 x 2 =2 x 100
=100+ 100
=200

e So, 100 x 2 = 200

E DISTRIBUTIVE WITH ADDITION

E.1 BREAKING DOWN AT LEFT

Ex 29: 3 x 8 =[16 /8]
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2x8=161x8=8

908
IS
9IS
IS
IS
I
IS
I

%/_/
3 x8

Answer:

3x8=(2x8)+(1x8)
=16+38

Ex 30: 4 x 7=[21]4+7]
JOT0
FIT D
JIT 0
000
FIT D
JIT 0
3956

4x7

Answer:
Ax7T=0BxT)+(1x7)
=2147

Ex 31: 7 x 6 =30 [+]12]

000000
0000040
9000000
000000
9000000
000000

Answer:

7x6=(5x6)4(2x6)
=30+12

Www.commeunjeu.com

[
[\V]

Ex 32: 11 x 4 =[40]4+{4]

Answer:
11x4=(10x4)+ (1 x4)
=40+14

Ex 33: 8 x 6 =30 [+] 18]

8x6=(5x%x6)+(3x6)
=30+18

Ex 34: 11 x 6 =[60]+{6]
10 x 6 = 60 1x6=6

98080000000
989689899696
9859685859696
989689899696
989680869696
968989869596

11%6

Answer:
11 x 6 = (10 x 6) + (1 x 6)
=60+6
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E.2 BREAKING DOWN AT RIGHT

Ex 35: 7x3

Answer: T X 3 =

= 14+{7]
miwils
700
minls
700
P00
700
mynis

%/_/
7x3

(Tx2)+(7x1)

=14+7

Ex 36: 8 x 4

Answer: 8 X 4 =

TOTE
TFOTT
TFITD
OIS
TFITD
OIS
TFOTT
9556

(8x3)+(8x1)

=24438

Ex 37: 6 x7
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=130 }+{12]

6 x5 =30 6x2=12

a

00000
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min T
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nswer:6><7:(6><5)+(6><2)
=30+ 12

Ex 38: 6 x 11 _-+@
@@@@@@@@@@@
900000000030
90000000000
90000000030
9090000990900
9096000680606

6x11
Answer: 6 X ].].:(GX 10)+(6X 1)
=60+ 6
Ex 39: 7x 6 =[35]+{7]

nswer:7X6:(7X5)+(7X1)
=35+7

E.3 BREAKING DOWN AT LEFT

Ex40:3><8:
2x8=161x

@@@@@@@%
QA
QattQy:;

w
X
[e 2]
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o
Il
w

Qaaaaa-

Answer:3><8:(2><8)+(1><8)
=16+38
=24

Ex 41: 4 x 7= 28]

3><A6:18

09030
990
0900
09040
@@@@ Answer: 8 X 6 = (5 x 6) + (
DT iig+18
@@@@ Ex 45: 11 x 6 =[66]

4x7 10 x 6 = 60 1x6=6

nswer: 4 X T= (3% 7) + (1 x7) DIADIAIDIDIADDIDTET
o 00000000330

Ex 42: 7 6 3] 0000000000
30 2612 90000000030
Gilal 0000000000
989999666656

11%6

QAR
QARG X
QAL
QAaQ
QAQQAQ
QAQQQ
QAtaQ

o\
o\
o\
Q

X<

o}
(=2}

w
=2}

X

)

=60+6
= 66

(7

703

703

DD Answer: 11 6 = (10 x 6) + (1 x 6)
703

T

E.4 BREAKING DOWN AT RIGHT

Ex 46: 7 x 3 = 21|
Answer: TX 6 = (5 x 6) + (2 X 6)
=30+ 12
=42

Ex 43: 11 x 4 =| 44|

7

[\
I
—_
.
\]
—
I
-

QA

;

960960000000
9689606965966
9689696896966
968969096066

QAQQQAQQ
QA QAQa

~— H_/
11 x4 7Tx3
Answer: 11 x 4 = (10 x 4) + (1 x 4) Answer: TX 3= (7Tx2)+ (7x 1)
=40 +4 =14+7
=44 =21
Ex 44: 8 x 6 = 48] Ex 47: 8 x 4 = 32|
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Answer: 8 X 4 = (8 X

8x3=24 8x1=8

066

9000
000
90090
9000
90090
9000

9956

8 x4

3)+(8x1)

=24438

=32
Ex 48: 6 x 7= 42]

060068
9098008
90908008
9098008
9908008
9990088

Answer: 6 X T = (6 5) + (6 x 2)

Ex 49: 6 x 1? i
0800000 00¢
96089080080
9689085080
9689085080
9689085080
99900889996

Answer: 6 x 11 - (6 x 10) + (6 x 1)

= 66
Ex 50: 7 x 6 = 42]
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m

=6

nswer: 1 X 6 =

7Tx5=35 x1=7

SEEREL )
Slalalalals
Slalalalals
lalalalals
Slalalalals
lalalalal
9996966

(7T x5)+
=35+7
=42

(7x1)

F DISTRIBUTIVE WITH SUBTRACTION

F.1 BREAKING DOWN AT LEFT

Ex 51: 9><3:

5680906000

(7
9000000300
90900000900

1x

7
7
F

nswer: 9 X 3 =

10 x 3 = 30

(10 x 3) —
=30-3

(1 x3)

Ex 52: 9 x5 =[50 }{5]

nswer: 9 X 5 =

(10 x 5) —
=50-5

(1 x5)

Ex 53: 8 x 7=[70}{14]

=3
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2x7=14

55555656666
9960909959606
996009099959606
9960909959606
9960909999606
Slalalalalalalal G,
9899096959556

10 x 7 =70

nswer:8X7:(10X7)—(2X7)
=70-14

Ex 54: 9 x 7=70}{7]

=60—12

F.2 BREAKING DOWN AT RIGHT

Ex 56: 3 x 9 =30}/3]
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9995955568
9960090999956
lalalalalalalalals,
996090999956
lalalalalalalalals,
9960090995956
SEEEEEEREREL

Answer: 9 X 7i (10_>< 7)—(1x7)

Ex 55: 8 x 6 =[60 ] 12]
6565955666
Slalalalalalalal G,
9960909999606
Slalalalalalalal G,
9960909959606
SEEEEEERENT

Answer: 8 X 6 = (10 x 6) — (2 x 6)

5680000008
96800090800
EEEGEEEERL,

Answer:3><9i(3>:10)—(3><l)

Ex 57: 4 x 9 =[40}{4]
060000068
9680080800
9680090800
9990088996

nswer14x9i(4>i10)—(4><1)

Ex 58: 8 x 9 =[80}/8]
555895555586
96800090800
9680090806
9680090800
9680090800
9680080800
9680090800
9589505598

Answer: 8 X 9 = (8 x 10) — (8 x 1)

=80—-28

Ex 59: 7 x 8 =[70}{14]
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Answer: T X 8 =

Answer: 9 X 3 =

Answer: 9 X § =

Tx2=14

56885559566
9960909959606
996009099959606
9960909959606
9960909999606
Slalalalalalalal G,
9899096959556

7x 10 = 70

(7 x10) —
=70-14

(7x2)

F.3 BREAKING DOWN AT LEFT

Ex 60: 9 x 3 = 27|

555959566668
9960090999956
@@@@@@@@@@

(10 x 3) —
=30-3
=27

(1 x3)

Ex 61: 9><5:

5000000008
lalalalalalalatals!
S lalalalalalalatals)
99990999956
9896990999956

10 x 5 = 50

(10 x 5) — (1 x 5)
=50—-5
=45

Ex 62: 8 x 7 =56
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=9

10

nswer: 8 X 7 =

nswer: 9 X 7 =

Answer: 8 X 6 =

2x7=14

55595555686
9960590995606
9960090999506
9960900995606
Slalalalalalalal )
lalalalalalalal
9899696959596

10 x 7 =70

(10 x7) —
=70-14
= 56

(2x7)

Ex 63: 9 x 7=63]

—

QAR
QAT
QAR
QAQAQAGAY

QARG

,_.
o
X
~K
|
-

(10 x 7) —
=70-7
=63

(1x7)

Ex 64: 8 x 6 =

-3

2x6=12

55595555686

90000009000
000000080
000000000
9000000000
090000008

10 x 6 = 60

(10 x 6) —
=60 —12
=48

(2 x 6)
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F.4 BREAKING DOWN AT RIGHT

Answer:3><9=(3><10)—(3><1)
=30—-3
=27

Ex 66: 4 x 9 = 36]

3x1=3

5000000008
lalalalalalalatals!
9896999669956

_

~—

x10=3

Answer: 4 X 9 = (4 X ].O) — (4 X ]_)

000000030
9000000030
000000000
000000030
000000000
000000030
9000000030
90900000000
nnnnnn 8x9=(8x10)—(8x1)

Ex 68: 7x 8=[70}{14]
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Tx2=14

9000000086
9960590995606
9960090999506
9960900995606
Slalalalalalalal )
lalalalalalalal
9899696959596

7% 10 =70

Answer:7><8:(7><10)—(7><2)
=70—-14
=56
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